AR " = : tH B & 8 B £ A & 2024&13)\_5:!3#&13 B = zoziﬁii)\%—xtﬁi%
P b 1k 151 | — o S 12 5a| B | o | & |20 conemn: muss (BT B | 5
*PEA g BX| X g S FERMY - T INR (R - B5R) - Bi% Ilj @ A 8 x 3:_{7)] BIEE), B ZOM %IIJ % E=
0OR| 5 | % | (EHEFERE) « ZDfth T EE| B B = |&B e #H | %
<EL DIEER> « iz L HERA « /NGRS (8043) 926 A —HEET
RE-RE 12 L < Witk (#12043) Sl 2y Droaal | aggo | FEROEBRER S HEER ) 12) 11 11
-EREECLD 5 35 104 ' ’ ' Uit 6 6| 1.0
- ‘ GE) 20244E4 1 & 0 B oSk
* E|E — ERE 10 W | y EHEA - /NS (800F 10.3 FABAT 5 5| 1.0
) + 6043 - I (RI1550) (1021 ] 11.1 | 11.10 CEHGAD
y B _ 0.1
@1.28
U 1216 [ 12.26 | 1.10
12.6
<HCH#E> RETHERT ERML T | HHEL - mHE (205 — " FAEE LT
RE-&RE 12 . YL, HIESENHET | HCPR<HI52r > &) ’ GE)HCPR—ET J fZ, 16| 15| 1.1
Rl e R R “28 1251125 11218 | o b o pmomaim,
[ J7eeniiR 27 BRZBH ’ AE—FRE
MIEFBEXZE| <vo—ru> P AE2M, TORICA20 | 1k = HAERA . HAEH - HIEEY
réigﬁim RE-EBHECLD 5 #i, IELTS3.50L E%: v | 2k =1#E (#92043) 1.1 — 117 () i A > AT 3 31 1.0
AT T ThrOFEKE (&K - - L . U243 | s L mEL, B
W TESENT IR 548 MIEOEEE, "Ly 11.8 1125 | 125 ARk S AR T 1 - B
A ERIT B L) ’ MbHbEALCEZLH
* ERE — ERE 3 wlml x| o YiE (iR Ll B | R - e (205> —
) - WEEE (TOPIK2M UL | HASEE » 104>, AFEEE <3
L% - s (HSK?2 | 65 « SEEE - PEEE» o & 1.1
WL wFhhof | 1> - 1050 - - ! [ 11.25| 125 | 12.13 G B 92D
BiE ERBEOEES 11.8
BEANEEOT v 21 %
B4z L)
< BRI FEMmE > iz L HERAE - FRAR (H - A0 (A HIERT),
RE-RE 12 ¥, %1008 11.1 FRIEBR2004, F1220.4 42 34| 1.2
-EBSECLD 6| BF | | x| X (BB E=EE GEX - #x| — - ! | 11.26 | 125 | 12.13 17| 13| 1.3
* EE—E 6 <)« 8B, #=C¥I11 11.15 41 3] 13
E T3 CHERUHD




